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VDD=5V (BRAERFAIBLER, T,=25°C)
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VDD=3V (BRAEFFAIBLER, Ta=25°C)
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THD+N vs Power Out THD+N vs Power Qut
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Power Supply Rejection Ratio (PSRR) @ A, =4 Power Supply Rejection Ratio (PSRR) @ Ay =4
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Power Supply Rejection Ratio (PSRR) @ A, =2
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Voo = 5V, Input Grounded = 100, Output Load = 8Q

Top Trace = No Cap, Next Trace Down = 1pf
Next Trace Down = 2uf, Bottom Trace = 4.7pf
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Open Loop Frequency Response
Voo = 5V, No Load
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Dimensions In Millimeters Dimensions In Inches
Symbol
Min Max Min Max
A 0.820 1.100 0.032 0.043
Al 0.020 0.150 0.001 0.006
A2 0.750 0.950 0.030 0.037
b 0.250 0.380 0.010 0.015
c 0.090 0.230 0.004 0.009
D 2.900 3.100 0.114 0.122
e 0.650(BSC) 0.026(BSC)
E 2.900 3.100 0.144 0.122
E1l 4.750 5.050 0.187 0.199
L 0.400 0.800 0.016 0.031
e 00 60 OD 60

12



LN43890

SOP8
< Et ol
| ' | ) |
T
| | |
o ! T
a |
" = | i1
L | |
A | o| —f——- -—=|- | o
______________ e - e e e — — — —
| ]
[T | ; 11
| I
|
T | 1 L]
T Al
| — |—
|
- - A2
E -t >
-l A .
L
! '
L g /e
\ /
I
Dimensions In Millimeters Dimensions In Inches
Symbol - -
Min Max Min Max
A 1.350 1.750 0.053 0.069
Al 0.100 0.250 0.004 0.010
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